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Affine gap penalty: opening a gap receives a score of 
d; extending a gap receives a score of e.
Penalty = d + (n-1)* e
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Alignment as (a series of) state(s)
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M Match (not necessarily identical)

X Insert at sequence X
(delete at sequence Y)

Y Insert at sequence Y
(delete at sequence X)

( Russ Altman BMI214)
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d Gap open

e Gap Extension

S(xi,yj)

S(xi,yj)

M Match (not necessarily identical)

X Insert at sequence X
(delete at sequence Y)

Y Insert at sequence Y
(delete at sequence X)
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• M (i,j) is the score of the best alignment between x1…i and y1…j, 
given xi aligned to yj

• X (i,j) is the score of the best alignment between x1…i and y1…j, 
given xi aligned to a gap

• Y (i,j) is the score of the best alignment between x1…i and y1…j, 
given yj aligned to a gap
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xi aligned to yj

xi aligned to a gap

yj aligned to a gap

after a match

after a gap

M

X
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Andrei Andreyevich Markov
(1856~1922)
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Markov Chain
• A Markov chain describes a discrete stochastic 
process at successive times. The transitions 
from one state to any of all states, including 
itself, are governed by a probability 
distribution.
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Markov Chain
• P(xt|x1…xt-1)  = P(xi|xt-m…xt-1)

• Xt = f( Xt‐1, Xt‐2,…Xt‐m )

• A chain of random variables in which the next 
one depends (only) on the current one
– P(xt|x1…xt-1)  = P(xi|xt-1)

1X1 X2X2 Xn-1Xn-1 XnXn……
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Transition Probability
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Affine gap penalty: opening a gap receives a score of 
d; extending a gap receives a score of e.
Penalty = d + (n-1)* e
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Summary Questions
• There isn’t direct transition between X and Y 
in our model, do you think it’s reasonable? 
Explain your answer.

• Is it possible to have global alignment based 
on the rephrased Markov Chain‐based model? 
Explain your answer.
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